

INSTITUTUL
DE
MATEMATICA

INSTITUTUL NATIONAL
PENTRU CREATIE
STIINTIFICA SI TEHNICA

ISSN 0250 3638

A MAXIMUM PRINCIPLE FOR THE TIME OPTIMAL
CONTROL PROBLEM IN BANACH SPACES

by
Ovidiu CÂRJĂ

PREPRINT SERIES IN MATHEMATICS

No.50/1981

Dec 17/665

BUCURESTI

A MAXIMUM PRINCIPLE FOR THE TIME OPTIMAL
CONTROL PROBLEM IN BANACH SPACES

by
Ovidiu CÂRJA*)

June 1981

*) Faculty of Mathematics, University of Iasi, Iasi 6600, Romania.

A MAXIMUM PRINCIPLE FOR THE TIME OPTIMAL CONTROL

PROBLEM IN BANACH SPACES

by

Ovidiu Cârjă

Faculty of Mathematics

University of Iași

Iași 6600, România

Abstract. A weak version of the maximum principle for the time optimal control problem in Banach spaces is obtained. An example involving linear retarded systems is derived.

1. INTRODUCTION

We are concerned here with the time optimal control problem for the equation

$$(1.1) \quad x'(t) = Ax(t) + Bu(t) \quad t > 0$$

$$x(0) = x_0$$

$$(1.2) \quad y(t) = \Lambda x(t)$$

where $x(\cdot)$ takes values in reflexive Banach Space E , $B \in L(U, E)$, $\Lambda \in L(U, F)$; U, F being other Banach Spaces, A is the infinitesimal generator of a strongly continuous semigroup $\{S(t); t \geq 0\}$ on E .

We denote by $L(X, Y)$ the algebra of linear continuous operator from X to Y endowed with the usual norm $\|\cdot\|_{L(X, Y)}$.

We shall consider the "mild" solution of (1.1), i.e.,

$$(1.3) \quad x(t) = S(t)x_0 + \int_0^t S(t-s)Bu(s)ds$$

and thus we may rewrite (1.2) such as

$$(1.4) \quad y(t) = \Lambda S(t)x_0 + \Lambda \int_0^t S(t-s)Bu(s)ds.$$

Let $x_0 \in E$ and $y_1 \in F$ be fixed and for $M > 0$ we denote

$$(1.5) \quad L_M = \{u \in L^\infty(\mathbb{R}^+, U); \|u(t)\| \leq M \text{ a.e. } t > 0\}$$

A trajectory $y(\cdot)$ is admissible if $x(0) = x_0$, $y(t) = y_1$ for some

$t > 0$. Since trajectories are always continuous, there exists a smallest t for which $y(t) = y_1$ holds; this number will be called the transition time of $y(\cdot)$. The infimum T of the transition times of all admissible controls $u \in L_M$ is called the optimal time. The time optimal control problem is the following:

(a) Does there exist a control $u_0 \in L_M$ (optimal control) such that $y(T) = y_1$? (T is optimal time)

(b) Assuming u_0 exists, how can it be characterized and what properties it has? The answer to (a) is generally affirmative. Using similar assumption to those of Lemma 2.1 in [4], the existence of optimal control for our problem is assured.

The question (b) was studied for some particular cases: ([4], [5], [6].) The basic technique used in these papers is the application of one of the standard separation theorems for convex sets. The difficulty consists in the sets which are considered in a natural way (see Ω_T defined in (3.4)), have interior void in the state space. The separation theorem is applied then in other spaces, suitably chosen, which have stronger topologies. For example Fattorini, [4], uses $D(A)$ with the graph norm and obtains a version of the maximum principle without restrictions on $S(t)$ (Th. 2.1) and in the case when the semigroup is analytic and E is a Hilbert space obtains:

Corollary 5.2. [4]. If $0 \leq t < T$, there exists $x_t \in H$, with

$$(1.6) \quad u_0(s) = \frac{S^*(t-s)x_t}{\|S^*(t-s)x_t\|}, \quad 0 \leq s \leq t$$

$u_0(\cdot)$ being the optimal control.

In the papers mentioned above $U = E = F$ and $B = \Lambda = I$ are considered (Here I is the identical operator in E). The same problem is studied by Henry too, [7], in the case of parabolic equations, using the analytic semigroups, in fact.

In this note we shall demonstrate a similar result with (1.6), without proposing the analyticity of the semigroup and in the

framework generally indicated at the beginning. We also mention that the introduction of the operator Λ in this study is determined by the fact that in certain problems which are written in the form (1.1) (e.g. the equation with delay) the controllability is not studied in the whole space but on certain subspaces. In this case, Λ a projection operators appears; for example see [1], [10].

The space in which we shall apply the separation theorem is similar with that used by Schmidt [6], (he studies the bang-bang principle for parabolic equations with boundary control) and by Henry [7].

2. PRELIMINARIES

We introduce the operator $V(t): L^{\infty}(0, t; U) \rightarrow E$, by

$$(2.1) \quad V(t)u = \int_0^t S(t-s)Bu(s)ds, \quad t > 0$$

and so we may rewrite (1.4) as

$$(2.2) \quad y(t) = \Lambda S(t)x_0 + \Lambda V(t)u.$$

The basic assumption which will be in effect throughout this paper is the null controllability property of the system (1.1) (1.2), i.e.

$$(2.3) \quad \Lambda S(t)E \subset \Lambda V(t)L^{\infty}(0, t; U) \text{ for every } t > 0.$$

Denote by

$$(2.4) \quad R_t(x_0, L^{\infty}(0, t; U)) = \{ y \in F; \text{ there exists } u \in L^{\infty}(0, t; U) \}$$

such that $y = \Lambda S(t)x_0 + \Lambda V(t)u$

and so (2.3) can be written as

$$(2.5) \quad \Lambda S(t)E \subset R_t(0, L^{\infty}(0, t; U)).$$

We introduce on $L^{\infty}(R^+; U)$ the following operators:

$$(2.6) \quad (J_s u)(t) = u(t + s) \quad \text{for } s \geq 0$$

$$(J_s u)(t) = \begin{cases} 0 & \text{if } 0 \leq t \leq |s| \\ u(t + s) & \text{if } t > |s| \end{cases} \quad \text{for } s < 0$$

(see [6]).

Lemma 2.1 The following identities hold:

$$(2.7) \quad \bigwedge V(t_1 + t_2)u = \bigwedge S(t_2)V(t_1)u + \bigwedge V(t_2)J_{t_1} u$$

for $t_1, t_2 > 0$

$$(2.8) \quad \text{If } t_1 < t_2 \text{ then } \bigwedge V(t_1)u = \bigwedge V(t_2)J_{t_1 - t_2} u.$$

Proof. The proof of this Lemma can be obtained through some rather standard manipulations involving (2.1), (2.6).

Using Lemma 2.1 it is easy to prove the following

Proposition 2.1 Assume that condition (2.3) holds. Then $R_t(x_0, L^\infty(0, t; U))$ is independent of $x_0 \in E$ and $t > 0$. See also [6], [11].

Denote by $R = R_t(0, L^\infty(0, t; U))$ and introduce on R the following norms:

$$(2.9) \quad \|y\|_t = \inf \{ \|u\|_\infty ; u \in L^\infty(0, t; U), y = \bigwedge V(t)u \},$$

$t > 0$, which define a Banach Space topology on R . For the proof see [3], [8].

Using (2.8) we may infer that for $s < t$ we have $\|y\|_t \leq \|y\|_s$. The closed graph theorem shows that the norms $\|\cdot\|_t$, $t > 0$, are equivalent.

In what follows we shall consider R as a Banach space with the norm $\|\cdot\|_1$.

We also observe that the inclusion mapping from R into F , $I: R \rightarrow F$ is continuous. We shall denote

$$(2.10) \quad X = \text{Cl} \left(\bigcup_{t>0} \bigwedge S(t)E \right) \quad (\text{Here "Cl" denotes the closure}$$

in the topology of R).

Let $P(t): E \rightarrow X$, $t > 0$, be defined by

$$(2.11) \quad P(t) = \bigwedge S(t)$$

We summarize some properties of the operator $P(t)$ below.

- Lemma 2.2 (a) $P(t)$ is a linear and bounded operator.
 (b) $\lim_{t \rightarrow t_0} P(t)x = P(t_0)x$ for every $x \in E$ and $T_0 > 0$
 (c) If $x^* \in X^*, x^* \neq 0$, then there exists $\varepsilon_0 > 0$,

Such that $P^*(\varepsilon)x^* \neq 0$ for every $\varepsilon < \varepsilon_0$.

Proof. (a) results from the closed graph theorem.

b) For $t > t_0$ we have $P(t)x - P(t_0)x = P(t_0)(S(t-t_0)x - x)$

and so $\lim_{\substack{t \rightarrow t_0 \\ t > t_0}} P(t)x - P(t_0)x = 0$.

If $t_1 < t < t_0$ we have $\|P(t)\|_{L(E,X)} = \|P(t_1)S(t-t_1)\|_{L(E,X)} \leq$
 $\leq \|P(t_1)\|_{L(E,X)} \|S(t-t_1)\|_{L(E,E)} \leq C$ (C being a positive constant).

On the other hand we have

$$\|P(t)x - P(t_0)x\|_X = \|P(t)(x - S(t_0 - t)x)\|_X \leq C\|x - S(t_0)x\|_E$$

and we may conclude that $\lim_{\substack{t \rightarrow t_0 \\ t < t_0}} P(t)x - P(t_0)x = 0$.

(c) Let us assume that there exists $\varepsilon_n > 0$, $\varepsilon_n \rightarrow 0$, such that $P^*(\varepsilon_n)x^* = 0$. For $t > 0$, there exists $\varepsilon_n < t$ and from (2.11) we have $P(t) = P(\varepsilon_n)S(t - \varepsilon_n)$. Then $P^*(t)x^* = S^*(t - \varepsilon_n)P^*(\varepsilon_n)x^* = 0$. Thus we have $P^*(t)x^* = 0$ for all $t > 0$, and according to (2.10) we get $x^* = 0$. The proof is complete.

3. THE MAIN RESULTS

Let us denote $R_t(x_0, L_M) = \{y \in F; \text{there exists } u \in L_M \text{ such that } y = \bigwedge S(t)x_0 + \bigwedge V(t)u\}$.

The main result of this paper is the following

Theorem 3.1 Let $x_0 \in E$ and $y_1 \in R_t(x_0, L_M)$ such that

$$(3.1) \quad M > \text{dist}_R(y_1, X).$$

Let u_0 be an optimal control, T its transition time. Then there exists $\varepsilon_0 > 0$ such that for every $\varepsilon < \varepsilon_0$ there exists $x_\varepsilon^* \in E^*, x^*$

$$(3.2) \quad (B^* S^*(T - \xi - t)x_\xi^*, u_0(t)) \triangleq \sup_{\|u\| \leq M} (B^* S^*(T - \xi - t)x_\xi^*, u) = \\ \|B^* S^*(T - \xi - t)x_\xi^*\|_{U^*} \text{ a.e. } t \in [0, T - \xi] .$$

For the proof of this theorem we need two lemmas

Lemma 3.1 Let y_1 as in Theorem 3.1. Then there exist $z_1 \in X$, $u_1 \in L_M$ with $\|u_1\|_\infty < M$ such that

$$(3.3) \quad y_1 = z_1 + \bigwedge V(t)u_1$$

For the proof see Lemma 1 in [6] .

Let

$$(3.4) \quad \Omega_T = \{y \in X; \text{ there is } u \in L_M, y = \bigwedge V(t)(u - u_1)\}$$

where u_1 is given by Lemma 3.1. Clearly Ω_T is convex .

Lemma 3.2 0 is an interior point of Ω_T .

Proof: If $\|y\|_T \leq C\|y\|_R$ then $\{y \in X; \|y\|_R \leq \frac{1}{C}(M - \|u_1\|_\infty)\} \subset \Omega_T$

See also [6] .

Proof of Theorem 3.1 First we shall prove that $z_1 - \bigwedge S(t)x_0$ is a boundary point of Ω_T . Note that from

$$(3.5) \quad y_1 = z_1 + \bigwedge V(t)u_1 = \bigwedge S(T)x_0 + \bigwedge V(t)u_0$$

we obtain $z_1 - \bigwedge S(T)x_0 = \bigwedge V(T)(u_0 - u_1) \in \Omega_T$.

Assume $z_1 - \bigwedge S(T)x_0$ is an interior point of Ω_T . Using the continuity of $P(\cdot)x_0$ in X and the convexity of Ω_T is not difficult to deduce the existence of $\delta > 0$, $r < 1$ such that

$$\frac{1}{2}(z_1 - \bigwedge S(T')x_0) \in \Omega_T \text{ for } T - \xi < T' < T .$$

Hence there exists $u \in L_M$ such that $z_1 = \bigwedge S(T')x_0 + \bigwedge V(T)(ru - ru_1)$ and using (3.5) we get $y_1 = \bigwedge S(T')x_0 + \bigwedge V(T)(ru + (1-r)u_1)$. Denoting $u_2 = ru + (1-r)u_1$, we have $\|u_2\|_\infty < M$ and $y_1 = \bigwedge S(T')x_0 + \bigwedge V(T)u_2$. On the other hand, using (2.7) we have

$$\bigwedge V(T)u_2 = \bigwedge V(T')(J_{T-T'}u_2) + \bigwedge S(T')V(T - T')u_2 .$$

Obviously, $\lim_{T' \rightarrow T} V(T' - T)u_2 = 0$ in E . As $\|\bigwedge S(T')\|_{L(E, X)}$ is bounded, we may infer that if we take T' sufficiently near T we have $\|\bigwedge S(T')V(T -$

$\| -T' u_2 \|_X < \delta = M - \| u_2 \|_\infty$. Next, by (2.9) there is $u_3 \in L_\delta$ such that

$$\Lambda S(T') V(T-T') u_2 = \Lambda V(T') u_3.$$

Hence $y_1 = \Lambda S(T') x_0 + \Lambda V(T') (J_{T-T'} u_2 + u_3)$, with

$\| J_{T-T'} u_2 + u_3 \|_\infty \leq M$, which contradicts the time optimality of u_0 .

The proof ends by applying a standard separation theorem for convex sets: there exists $x^* \in X^*$, $x^* \neq 0$, such that

$$(3.6) \quad \langle x^*, \Lambda V(T)(u_0 - u_1) - y \rangle \gg 0 \text{ for every } y \in \Omega_T.$$

(Here $\langle \cdot, \cdot \rangle$ denotes the natural pairing between X and X^*). For every $u \in L_M$ we denote $u_\varepsilon = (1 - \chi_\varepsilon) u_0 + \chi_\varepsilon u$, where χ_ε denotes the characteristic function of the interval $[0, T - \varepsilon]$. Involving (2.1),

(2.6) we get

$$(3.7) \quad \Lambda V(T)(u_\varepsilon - u_1) \in \Omega_T$$

and so, by (3.6) we obtain $\langle x^*, \Lambda V(T) \chi_\varepsilon (u_0 - u) \rangle \gg 0$ for every $u \in L_M$ and by (2.1) we have

$$(3.8) \quad \langle x^*, \Lambda S(\varepsilon) \int_0^{T-\varepsilon} S(T-\varepsilon-s) B(u_0(s) - u(s)) ds \rangle \gg 0$$

for every $u \in L_M$, and therefore

$$(3.9) \quad (P^*(\varepsilon)x^*, \int_0^{T-\varepsilon} S(T-\varepsilon-s) B(u_0(s) - u(s)) ds) \gg 0 \text{ for}$$

every $u \in L_M$ (Here (\cdot, \cdot) denotes the natural pairing between E and E^*). Denoting $P^*(\varepsilon)x^* = x_\varepsilon^* \in E^*$, for $\varepsilon < \varepsilon_0$ (ε_0 given by Lemma 2.2) we obtain from (3.9)

$$(3.10) \quad \int_0^{T-\varepsilon} (B^* S^*(T-\varepsilon-s) x_\varepsilon^*, u_0(s) - u(s)) ds \gg 0$$

for every $u \in L_M$.

Using the argument of Fattorini (Theorem 3.1), [4]), (3.10) implies (3.2). This ends the proof of Theorem 3.1.

We end this section with some remarks. If $F = E = U$ and $B = \Lambda = I$
Proposition 3.1 (a) $\lim_{\varepsilon \rightarrow 0} S(\varepsilon)x = x$ for every $x \in D(A)$ (the limit is taken in the topology of X).

(b) $X = Cl(D(A))$ (As in (2.10), "Cl" denotes the closure in the topology of X).

Proof. (a) If $x \in D(A)$ an integration by parts shows that

$$x = \int_0^1 S(1-s)(x - sAx)ds. \text{ Hence}$$

$$(3.11) \quad S(\varepsilon)x = \int_0^1 S(1-s)(S(\varepsilon)x - sS(\varepsilon)Ax)ds, \quad \varepsilon > 0.$$

Denoting $u(s) = x - sAx$ and $u_\varepsilon(s) = S(\varepsilon)x - sS(\varepsilon)Ax$, we obtain

$$\|u_\varepsilon - u\|_{\infty} \leq \|S(\varepsilon)x - x\|_E + \|S(\varepsilon)Ax - Ax\|_E. \text{ This implies that } \lim_{\varepsilon \rightarrow 0} u_\varepsilon = u$$

in $L^{\infty}(0,1;u)$ and therefore $\lim_{\varepsilon \rightarrow 0} S(\varepsilon)x = x$ in X .

(b) From (a) we obtain $Cl(D(A)) \subset X$. On the other hand we may write $S(t)x = \int_0^t S(t-s) \frac{1}{t} S(s)x$ for every $x \in E$, $t > 0$. Let $J_\lambda = (I - \lambda A)^{-1}$, $\lambda > 0$. We have $J_\lambda S(s)x \in D(A)$. Using the continuity of $J_\lambda S(\cdot)x$ and $S(\cdot)x$ we may infer that for every $\lambda > 0$ there exists $s_\lambda \in [0,t]$ such that

$$(3.12) \quad \|J_\lambda S(s)x - S(s)x\|_{\infty} = \|J_\lambda S(s_\lambda)x - S(s_\lambda)x\|_E.$$

There exists a subsequence (again denoted s_λ) such that $\lim_{\lambda \rightarrow 0} s_\lambda = s_0$.

Using (3.12) we have

$$\|J_\lambda S(s)x - S(s)x\|_E \leq \|J_\lambda S(s_\lambda)x - J_\lambda S(s_0)x\|_E + \|S(s_\lambda)x - S(s_0)x\|_E + \|J_\lambda S(s_0)x - S(s_0)x\|_E$$

and thus we get $\lim_{\lambda \rightarrow 0} J_\lambda S(\cdot)x = S(\cdot)x$

in $L^{\infty}(0,t;E)$ which implies $\lim_{\lambda \rightarrow 0} J_\lambda S(t)x = S(t)x$ in X .

Hence $X \subset Cl(D(A))$ and the proof is complete.

4. APPLICATIONS

1. If $F = E = U$ and $B = A = I$, the null controllability condition is verified because $S(t)x_0 = \int_0^t S(t-s) \frac{1}{t} S(s)x_0$, i.e. $u(s) = \frac{1}{t} S(s)x_0$ for $s \in [0,t]$. Much more, if $S(t)E = E$ for some $t > 0$ we have $K = X = E$ and from the closed graph theorem it follows that $\|\cdot\|_t$

is equivalent to $\|\cdot\|_E$. The assumption (3.1) is instantly verified and letting ε tend to zero in (3.2) we obtain Theorem 3.1 in [4].

2. The wave equation. Let H be a Hilbert space, A a self adjoint operator in H such that $(Au, u) \leq -\omega |u|^2$, $u \in D(A)$, for some $\omega > 0$, where (\cdot, \cdot) denotes the scalar product in H and $|\cdot|$ stands for the norm in H . Let V be the domain of $(-A)^{\frac{1}{2}}$ (the square root of $(-A)$). It is well known that A is the infinitesimal generator of a strongly continuous cosine family in H and $\mathcal{A} = \begin{bmatrix} 0 & I \\ A & 0 \end{bmatrix}$ is the infinitesimal generator of a strongly continuous group in $V \times H$. The norm in V is defined by $\|u\| = |(-A)^{\frac{1}{2}} u|$ and the space $V \times H$ is endowed with its Hilbert product norm. Let $B_0 \in L(U_0, H)$, U_0 being other Hilbert space. We define $B: U \rightarrow V \times H$ by

$$(4.1) \quad Bu = \begin{pmatrix} 0 \\ B_0 u \end{pmatrix}.$$

Consider the equation

$$(4.2) \quad \begin{aligned} x''(t) &= Ax(t) + B_0 u(t), \quad t > 0, \\ x(0) &= x_0 \in V; \quad x'(0) = x_1 \in H. \end{aligned}$$

This problem can be reformulated as

$$(4.3) \quad y'(t) = \mathcal{A}y(t) + Bu(t), \quad t \geq 0$$

$$\text{where } y(t) = \begin{pmatrix} x(t) \\ x'(t) \end{pmatrix}; \quad y_0 = \begin{pmatrix} x_0 \\ x_1 \end{pmatrix}.$$

Let $\{C(t), t \in \mathbb{R}\}$ be the cosine family generated by A and $S(t)x = \int_0^t C(s)x ds$, $x \in V, t \in \mathbb{R}$. Let $V(t)$ be the group generated by \mathcal{A} .

It is easy to see that

$$(4.4) \quad V(t) = \begin{bmatrix} C(t) & S(t) \\ AS(t) & C(t) \end{bmatrix}.$$

The mild solution of (4.3) is given by

$$(4.5) \quad y(t) = V(t)y_0 + \int_0^t V(t-s)Bu(s)ds.$$

The definition of controllability for (4.2) is given for example in

[5]. The invariance of (4.2) with respect to time reversal implies that the null controllability is equivalent to global controllability

Hence $K = X = V \times H$. Letting ε tend to zero in (3.2), after some simple calculations involving (4.1), (4.4) we obtain

Corollary 4.1 Assume the null controllability of (4.2). Then there are $x_1^* \in V$, $x_2 \in H$, $x_1^* \neq 0$ or $x_2^* \neq 0$, such that

$$(4.6) \quad (B_0^* S^*(T-t)x_1^* + B_0^* C^*(T-t)x_2^*, u_0(t)) = \\ = \sup_{\|u\| \leq M} (B_0^* S^*(T-t)x_1^* + B_0^* C^*(T-t)x_2^*, u) \text{ a.e. on } [0, T-\varepsilon].$$

If $U = H$ and $B_0 = I$ then the null controllability is proved in [5]. In this paper is proved the maximum principle too. We also remark that the maximum principle (3.2) is obtained if we study the controllability in the spaces V or H . Obviously, Λ will be Π_1, Π_2 , respectively ($\Pi_i, i = 1, 2$, will denote the projections of $V \times H$ onto its component spaces).

3. Linear retarded systems We consider the linear retarded equation on.

$$(4.7) \quad z'(t) = \sum_{i=0}^N A_i z(t-h_i) + \int_{-h}^0 A_{01}(\theta) z(t+\theta) d\theta + B_0 u(t),$$

$$(4.8) \quad z(0) = \phi^0, \quad z(\theta) = \phi'(\theta); \quad \theta \in (-h, 0), \quad t \geq 0.$$

where $z \in R^n$, $\phi^0 \in R^n$, $\phi' \in L^2(-h, 0, R^n)$; $A_i \in \mathcal{L}_{n,n}$, the $\mathcal{L}_{m,n}$ -valued function $\theta \rightarrow A_{01}(\theta)$ is bounded measurable, and $0 = h_0 < h_1 < \dots < h_N = h$; $B_0 \in \mathcal{L}_{m,n}$, $u \in R^m$. Here $\mathcal{L}_{p,q}$ denotes the space of all $p \times q$ real matrices endowed with a suitable norm. The framework adopted in this paper and the general results stated below are essentially due to Bernier and Manitius [2].

For $t \geq 0$, x_t denotes the function on $(-h, 0]$ defined by $x_t(\theta) = x(t+\theta)$, $\theta \in [-h, 0]$.

The solutions of this equation will be treated as elements of the Hilbert space $M^2 = M^2(-h, 0; R^n) = R^n \times L^2(-h, 0; R^n)$ endowed with usual inner product. It is well known [2], [9] that equation (4.7) induces a strongly continuous semigroup $\{S(t), t \geq 0\}$ on M^2 . Let $z(t)$ be a solution of (4.7), (4.8), then $x(t) = (z(t), z_t)$ is the mild solution of the abstract differential equation

$$(4.9) \quad \begin{aligned} x'(t) &= Ax(t) + Bu(t) \quad t > 0 \\ x(0) &= \phi. \end{aligned}$$

where: $A: D(A) \subset M^2 \rightarrow M^2$ is the infinitesimal generator of $\{S(t), t \geq 0\}$ and $B: R^m \rightarrow M^2$ is a bounded linear operator defined by

$$(4.10) \quad Bu = (B_0 u, 0).$$

More details about $S(t), S^*(t), A$ can be found in [2].

For (4.7), (4.8), there are a lot of types of controllability studied in literature. See e.g. [10], [1]. Thus, for M^2 -controllability Λ in (1.2) is the identity operator in M^2 , for L^2 -controllability and Euclidian controllability, Λ will be the projection of M^2 onto $L^2(-h, 0; R^n)$ and R^n , respectively. For the case of F -controllability studied by Manitius [9] we have $\Lambda = F = \begin{bmatrix} I & 0 \\ 0 & H \end{bmatrix}$ (see [9] for details about F).

We are in the situation of general problem (1.1) (1.2) described in Section 1, where $E = M^2; U = R^m, \Lambda$ and F are described above.

Following [2] we shall describe the operator $B^* S^*(t)$. We have

$$(4.11) \quad \begin{aligned} S^*(t) &= F^* G_t^* + s^*(t) \quad \text{where} \\ [G_t^* \psi]^0 &= [G_t^* \psi]^1(0) \\ [G_t^* \psi]^1(\theta) &= X^z(t+\theta) \psi^0 + \int_{-h}^0 X^z(t+s+\theta) \psi^1(s) ds \\ [s^*(t) \psi]^0 &= 0, \quad [s^*(t) \psi]^1(\theta) = \psi^1(\theta-t) \chi_{[0, \theta+h]}(t) \end{aligned}$$

where $\chi_{(a,b)}$ denotes the characteristic function of the interval (a,b) superscript z will denote transposition of a vector in R^n ; $X(t)$ denote the fundamental matrix of Eq(4.7), i.e. $X(t) \equiv 0$ for $t < 0$, $X(0) = I$, $X(t) = L(X_t)$ a.e. where $X_t(\cdot)$ denotes $X_t(\theta) = X(t+\theta)$, $\theta \in [-h, 0]$.

The operator L is as follows: Extend $A_{01}(\cdot)$ to $(-\infty, \infty)$ by putting $A_{01}(s) \equiv 0$ for $s \notin [-h, 0]$ and define

$$(4.12) \quad G(\theta) = -\sum_{i=1}^N A_i \chi(-\infty, -h_i](\theta) - \int_{\theta}^0 A_{01}(s) ds$$

$$(4.13) \quad N(\theta) = -A_0 \chi_{(-\infty, 0)}(\theta) + G(\theta).$$

Both $G(\cdot)$ and $N(\cdot)$ are bounded variation functions. For $\phi \in C([-h, 0], \mathbb{R}^n)$ we define, using Stieltjes integral notation, the operator

$$(4.14) \quad L(\phi) = \int_{-h}^0 dN(\theta) \phi(\theta)$$

and for $\phi^1 \in L^2(-h, 0; \mathbb{R}^n)$ we define $H: L^2(-h, 0; \mathbb{R}^n) \rightarrow L^2(-h, 0; \mathbb{R}^n)$ by

$$(4.15) \quad (H\phi^1)(\theta) = \int_{-h}^{\theta} dG(s) \phi^1(s - \theta).$$

As results from [2], Prop. 3.1, for $\psi^1 \in L^2(-h, 0; \mathbb{R}^n)$ we have

$$(4.16) \quad (H^* \psi^1)(\theta) = \int_{-h}^{\theta} dG^z(s) \psi^1(s - \theta).$$

We have also

$$(4.17) \quad F^* = \begin{bmatrix} I & 0 \\ 0 & H^* \end{bmatrix}.$$

Using (4.10), (4.11), (4.17) we obtain

$$(4.18) \quad B^* S^*(t) \psi = B_0^* X^z(t) \psi^0 + B_0^* \int_{-h}^0 X^z(t+s) \psi^1(s) ds$$

where $\psi = \begin{pmatrix} \psi^0 \\ \psi^1 \end{pmatrix} \in \mathbb{M}^2$.

Defining R, R_t and X as in Section 3, Theorem 3.1 can therefore be applied to the present situation.

Corollary 4.2 Let the system (4.7), (4.8) be null controllable. Let $\phi_0 = (\phi_0^0, \phi_0^1) \in M^2(-h, 0; \mathbb{R}^n)$ and $\phi_1 \in R_t(\phi_0, L_M)$ such that $M > \text{dist}_R(\phi_1, X)$. Let u_0 be an optimal control, T its transition time. Then there exists $\varepsilon_0 > 0$ such that for every $\varepsilon < \varepsilon_0$, there exists

$$(4.19) \quad (B_0^* X^z(t) \psi_\varepsilon^0 + B_0^* \int_{-h}^0 X^z(t+s) \psi_\varepsilon^1(s) ds, u_0(s)) = \\ = \sup_{\|u\| \leq M} (B_0^* X^z(t) \psi_\varepsilon^0 + B_0^* \int_{-h}^0 X^z(t+s) \psi_\varepsilon^1(s) ds, u) \quad \text{on } [0, T-\varepsilon].$$

Remark: The null controllability of (4.7), (4.8) is studied for example in [1].

REFERENCES

1. H.T. Banks, Marc Q. Jacobs and C.E. Langenhop - Characterization of the controlled states in $W_2^{(1)}$ of linear hereditary systems, SIAM J. Control, 13, (1975) 611-649.
2. C. Bernier, A. Manitius - On semigroup in R^n L^p . corresponding to differential equations with delays, Can. J. Math., 30, (1978), 897-914.
3. S. Dolecki, D.L. Russell - A general theory of observation and control, SIAM J. Control and Optimization, 15, (1977), 186-220.
4. H.O. Fattorini - The time optimal control problem in Banach spaces Applied Mathematics and Optimization, 1, (1974), 163-188.
5. H.O. Fattorini - The time optimal problem for distributed control of systems described by the wave equation, in Control theory of systems governed by partial differential equations; Academic Press, New York, London, 1977.
6. E.J.P. Georg Schmidt - The "bang-bang" principle for the time optimal problem in boundary control of the heat equation, SIAM J. Control and Optimization, 18, (1980), 101-107.
7. J. Henry - Contrôle d'un reacteur enzymatique a l'aide des modèles à paramètres distribués. Quelques problèmes de contrôlabilité de systèmes paraboliques, Thèse d'Etat - Paris, VI (1978)
8. K. Magnusson, A.J. Pritchard - Local exact controllability for nonlinear evolution equations, Report No. 75, Control Theory Centre.
9. A. Manitius - F- controllability and observability of linear retarded systems, Report CRMA - 921, Université de Montréal
10. A. Manitius, R. Triggiani - Function space controllability of linear retarded systems: a derivation from abstract operator conditions, SIAM J. Control and Optimization, 16 (1978) 599-645
11. T.I. Seidman - Time -invariance of the reachable set for linear control problems, J. of Math Anal. and Applic., 72, (1979), 17-20

